o Specification
< A T Pos Type DIN Pcs.
N @60 PARBAUDITS Plate 60x20x3 M6 1
2017.06.28. 1 M6x10 7380-A2 1
M6 washer 125-A2 | 1
Plate 30x20x4 M6 1
\— 2 M6x10 7380-A2| 1
o Det. C M6 washer 125-A2 | 1
w0 get.IC ) 3 |M8 welded washer| 9021 4
cale 1:5 4 | Plate 25x16x3 1
@60 5 M10x10 916-A2 | 6
o
<
N
| 2x3pcs.
7] 120°
o
i !
s1 ~
3
N Det. B
Scale 1:10
( q B n Triangle
8 4’| (D(I’Q B-B key
uﬁ? .3 \;\ o E @m* 7
P e, o
I\
Fa M10
o
g
A A
0 1M i {
@ S 2
)
2
Det. B 10
o
o)
o
o
o)
o)
—
) ﬂ r
o
©
L 9131
Owner: : Title: Sect.. @: Steel: Thickness:
Wl CCNOPALI Tecnopali CP 7100 S1 S235JR 3.0
NORTH EUROPE [Drawn by: L.Simanis
“Vecratnieki" Daugmales pagasts, )
Kek: ds, LV-2124, Latvij : . . B
Phone +371 67148365 Checked bY: 1 Simanis [ "°° CP7100-60
Fax +371 67148866 - N
E-Mail sales@tecnopali.lv Rev.: Date: Sc.: Weight.: Galvanized.:
www.tecnopali.lv 2 260617 130 5111 kg EN 1461



Admin
Tecnopali




